Sagwekm*\\e\ie,loéﬁcﬁaparhde
bt we wart 4o know s Pesitien & 2
qen ke, or, we Erow e ke ot uhich

S poplation 18 growing, kot we Luant to
cnow TS St at o gwen kime...

T. oiner words : aven the dedvahve
Can We work 56&0&’* Yo 4nd Hhe c&g’m&?
A ot Fis © a\\ed o0 ﬁn‘{,’dﬂ;{aﬂm " ofF 2 4

on a0 tnferal T i #=F'o) w L.



So. il F'8 G, are any 2 ankdenigtvs of £,

bhen F') =G O G(x)-Fix) = C ,
o TC F s or antidedistive oL en an

inlerial T, 4hen dre most gene\ anti -

deniatve Fon T is: FHO+C

By osvlaning spexific valves fo C, we
odaina }a«-& of Len's whose gephs are
vertica| dandates of ere andhher.

exz Hembers oF ¥ne family of ankidedraf
4 oF o o antideqishives



bl &F Aekidedyatives
We con wse the “ndefinde integn/’ to
represect the antidferertiation prcess .
S&‘mxdx = ~tesx +
(eosxdx = anx +C
§secxdx = tarx +C
secxhanxdx = secx + C ,
gcsc?'xd\( ] -(c'*)( -+ C
Sestxcatxdx = ~csex + €
Cetdx = e*+c
$8he = - +c
%-‘zdx': o |x| 4 ¢

N "t
gx de= E—1ic (ng-1)

§ [Fo0 ¢ g6 de = S\C(x)dx + (goord
SH’(&) dx = k{do0dy (k5 constant)



Tn applications of caleolus, W 1 very
comwon Yo have a siHuation where oS
required to fied 3 fon' given krowledge
Soout e deqcative. An egn' that Involves
the deniatives of some fea' \s called o
/N d, % fg / @ F" c: :

Can we ever determine C untqve\s?

qven ok will uniquely Spec?‘s the seln',

exy find fo0 i $oxy= €4 200101



de con dso Pind e antiden (ative
moltiple mes (o5 jeahc,:\u\d q‘ﬁnd £,

‘F\\’ -cm' Q“"Ca)

ex, Fid foo 'F ) e Rxirbx -Y ¢
o\ Hov= 4 & £C) = |
by A=t ¢ £lo) =0

Nohice : Wnen we Stacted with 3 we needed
2 pleces oF info because we Wad 2 uwnwkncun

constants. In dadt, when -?w\din% L Lom
-?““; we will end up with N unknown

constart s, § herefore we will need
Conditons Yo find o wique selotton,




Section 5.2 E\igs\‘é'“!\a Velecity ¢

~ hecetestion
Rectlineer Nation® Recall that # an chject
has pestion fen' SeF) 2 Yeloaly viHi=s')
So posthon s he dnfderiivtire o velccity /
Likewise, sxeeation alt)= \'(H = S'(f),
So \eloaity s $he antidentre of acceteqtion!

@/ A oo accdectes from test Uhen the
light 4uens green. Thihally the accelemtion
& (0"/s2 bot T decvesses linearly,
reaghing O ofler 10s. Fird the velodty &
posttion of e Gar during this mienw).

el



Qechion 53¢ Chanae o \oniahle h

| Trdetinde I\\’cesb\
Somebimes ve can Ajuet vhat we most
inNeqeie by Nedudeg & change of nsble.

'W\is\ssme\\ﬂwes knowh 05 n
ard i+ isnetfechee uhen bl g fa' €

s desnahve SppESt n out ntegre).
ey Eadee SZXW dx

h" SQPPO;Q h SQMQY\ O XK= &u)
mokes S04 SS} (W) qlewddu -
Ten i Tl & on antdeniehee o Holu) 1)

2 \Sefde = Tlw) + C.
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